EARAROBREBRT —5 XN—ZXBISH—F

2023548228 (£) 105158

M C2-6 C2 Y5%—§

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 1300 =

[AE%] 17&:700,00 F  27&:245,000 W  337%&:140,000 .~ 43 :105,000H . 5 7&:70,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
5 Ho10 | MERE 1:26.7 5-5-6-4 | 40.2| — | 3 | 479 |FAA (RH)
1 : BESZIN 5.0 o vy |EEEE
RYIRAT4 TSR BRARY—R TS #HBEI77—LA
S, A0 o RIS : -7-8- - HPEZ (&)
5 )| EOYFRY - o6 A 1.(227).1 7-7-8-5 | 40.5 2 (5:)2(; = ©
RiNZ—ka1—R B:Fv—LETFv— [R5
N o5 | ERER 1:27.3 1-1-1-1 | 41.4| — 5 502 | E)IIEEL (B0
31771797 56.0 (3/4) © |EeE
R:ILEAVIIYR B:I91E4TLA¥ Sl e
—N—1) = H o6 | ZHRESM 1:27.4 3-2-2-3 | 41.4| — 1 516 | ILEEEE (B4
418|9|F—N—-U=vhk 56.0 (3/4) (9) | EME—
RFVITHXANXN B:TSS5A4Y T s
_ s 5 | EN=ER 1:27.9 2-3-3-2 | 41.8| — 6 | 448 |MEEX (BH)
5/1|1|AYALT7E-L 54.0 @172 iy |BE-
RiF/IVITYR BAAYIDTE—D e
» TN 4t 4 | LIRS 1:28.1 6-6-4-6 | 41.7 | — 4 | 486 |HMEIEX (S
6l 8| EAZL—FSTY %.0 /A e |UEEE
R:ISVFURR B:EXSINY [=Eag e
~ = » t 6 | ANERE 1:28.6 4-4-5-7 | 42.2| - 8 511 | #AKE (BH)
7f 6|2AF7IT A~ * 5.0 2172 Ly | @ Jr—akevay
RiFVyvB/FE+ B:7IF4E21—FT+ ERRIS
157 AL v 8 | LHEFE 1:29.1 8-8-7-8 |4.4| — 7 45 | EEEE (EF)
8|5|5|FT7ARTUYY 56.0 2172 @ | (B JPNE#f
RIAYYTSvva B:9=/Iv R—)b MEZ Y R
o 6 | B 1:32.1 9-9-9-9 |43.3| - 9 470 | RAX &H)
9 4| ANV BRABA e 54.0 (941) +6) @ J P NEEH
R:ZAEILN=T B:AZed—F SPEHUS
@ 11— —‘@BIEfI
10—7+— 7,1,9,6,3,8,2,5,4
20—7F— 7,9,1,6,3,8,2,5,4
BEIESSES 7,9,1,8,6,3,5,2,4
40—F— 7,1,9,3,2,8,6,5,4
0 ILRE
BB 3 610 JA R 2-3 280M & 2-3 7708 3EE 2-3-7 3,720
B B 3 170M 3-7 770 5B E 2=3) 810M 3EE Bl 16,1603
2 1504 2-7 670/ o= 3-2 2,170H
7 370

ABIC OV TRUTEREERRODDZE. THRIIZEL.




